# Official Gifts RECEIVED Register Tasmanian Government

1 November 2024 – 31 October 2025

| Date     | Minister   | From                    | Description  | Value  | Disposal & Location       |
|----------|--|-------------------------|--|--------|---------------------------|
| 24/08/24 | Minister Palmer  | Hawthorn Football Club  | 2 x Tickets - AFL Hawthorn v Nth Melbourne<br>President's Function @ \$425 each  | \$850  | Retained by the recipient |
| 14/10/24 | Minister Ellis   | Hospitality Tasmania    | 1 x VIP ticket - Hospitality Tasmania Awards for Excellence 2024 @ \$180 each  | \$180  | Retained by the recipient |
| 01/11/24 | Premier Rockliff,<br>Ministers Abetz,<br>Barnett, Duigan,<br>Ellis, Howlett,<br>Jaensch, Ogilvie<br>and Palmer | Qantas Airways Limited  | 1 x Qantas Chairman's Lounge Membership @<br>\$699 each  | \$699  | Retained by the recipient |
| 01/11/24 | Minister Petrusma  | Qantas Airways Limited  | 1 x Qantas Gold Lounge Membership @ \$629 each   | \$629  | Retained by the recipient |
| 01/11/24 | Premier Rockliff and<br>Minister Duigan  | Virgin Australia        | 1 x Virgin Australia Lounge Membership @ \$450 each  | \$450  | Retained by the recipient |
| 01/11/24 | Premier Rockliff   | Tasmania JackJumpers    | 6 x Tickets - JackJumpers vs South East<br>Melbourne Phoenix @ \$364.58  | \$2187 | Retained by the recipient |
| 01/11/24 | Minister Duigan and Jaensch  | Tasmania JackJumpers    | 2 x Tickets - JackJumpers vs South East<br>Melbourne Phoenix @ \$364.58  | \$729  | Retained by the recipient |
| 01/11/24 | Minister Ogilvie   | NSW Dept of Corrections | 1 x Girrawaa Australia Boomerang Artwork @<br>\$150, 1 x Girrawaa First Nations Bullroarer 10 Gift<br>Cards and Artefact Set @ \$100 and 1 x Girrawaa<br>Didgeridoo @ \$70 | \$320  | Retained by the recipient |

| Date     | Minister          | From                                     | Description  | Value  | Disposal & Location         |
|----------|-------------------|--|--|--------|-----------------------------|
| 04/11/24 | Minister Howlett  | Treasury Wine Estate                     | 1 x Ticket - 2024 Australian Hotels Association<br>National Board Luncheon@ \$500 each | \$500  | Retained by the recipient   |
| 05/11/24 | Premier Rockliff  | Cathay Pacific                           | 1 x Cathay Pacific model plane @ \$95 each   | \$95   | Retained by the recipient   |
| 05/11/24 | Minister Howlett  | Lion Co                                  | 4 x Tickets - Lexus Melbourne Cup Day @ \$1000 each                                    | \$4000 | Retained by the recipient   |
| 05/11/24 | Minister Vincent  | TasRacing                                | 2 x Tickets - TasRacing Melbourne Cup Luncheon -<br>Elwick Racecourse @ \$190 each     | \$380  | Retained by the recipient   |
| 06/11/24 | Premier Rockliff  | Fuzhou 8 Middle School                   | 1 x Book and 1 x Gold Picture Frame @ \$100  | \$100  | Retained by the recipient   |
| 06/11/24 | Premier Rockliff  | Governor of Fujian Province              | 1 x Glass Plate and Stand @ \$50 each  | \$50   | Retained by the recipient   |
| 07/11/24 | Premier Rockliff  | Shandong Chamboard<br>Holding Group      | 1 x Gold Polished Square Lapel / Tie Pin<br>@ \$658 each                               | \$658  | To be retained by the Crown |
| 08/11/24 | Premier Rockliff  | University of Chinese<br>Medicine        | 1 x Small Framed Embroidery @ \$70 each  | \$70   | Retained by the recipient   |
| 08/11/24 | Minister Rockliff | DaShang Group                            | 1 x Dragon Bottle @ \$150 each   | \$150  | Retained by the recipient   |
| 08/11/24 | Minister Abetz    | Joseph Chromy                            | 2 x tickets - Effervescence Gala Dinner @ \$275 each                                   | \$550  | Retained by the recipient   |
| 08/11/24 | Minister Howlett  | Paragon Wine Estates                     | 1 x Ticket - Effervescence Gala Dinner @ \$275 each                                    | \$275  | Retained by the recipient   |
| 12/11/24 | Minister Abetz    | Tasmanian Forest Products<br>Association | 1 x Ticket – Dinner @ \$80 each  | \$80   | Retained by the recipient   |
| 17/11/24 | Minister Howlett  | Federal Group                            | 1 x Ticket – End of Year Function @ \$100 each   | \$100  | Retained by the recipient   |

| Date     | Minister  | From                             | Description  | Value  | Disposal & Location                            |
|----------|---|----------------------------------|--|--------|--|
| 18/11/24 | Premier Rockliff,<br>Ministers Barnett<br>and Duigan  | Cricket Tasmania                 | 1 x Ticket - Mens T20 Cricket International Series<br>Australia v Pakistan @ \$285 | \$285  | Retained by the<br>Recipient                   |
| 22/11/24 | Minister Duigan                                       | Tennis Tasmania                  | 1 x Hamper @ \$160 each  | \$160  | Retained by the recipient                      |
| 29/11/24 | Premier Rockliff                                      | Paralympics Australia            | 1 x Framed Paris 2024 Australian Paralympic<br>Team Photo @ \$132 each             | \$132  | Remain property of the Crown                   |
| 28/11/24 | Minister Palmer                                       | Launceston College               | 4 x Tickets - Launceston College Dance Fever<br>@ \$20 each                        | \$80   | Retained by the recipient                      |
| 30/11/24 | Premier Rockliff                                      | Three Friends Abalone            | 3 x Premium Abalone Gift Box 425g @ \$88 each                                      | \$264  | Retained by the recipient                      |
| 01/12/24 | Minister Howlett                                      | Sprout Tasmania                  | 1 x Ticket - Growing Good 2024 Dinner @ \$150 each                                 | \$150  | Retained by the recipient                      |
| 03/12/24 | Premier Rockliff,<br>Ministers Barnett<br>and Ogilvie | Mondelez Australia Pty Ltd       | 1 x Happy Holidays Chocolate Box @ \$50 each                                       | \$50   | Retained by the recipient                      |
| 03/12/24 | Minister Jaensch                                      | Mondelez Australia Pty Ltd       | 1 x Happy Holidays Chocolate Box @ \$50 each                                       | \$50   | Donated to Burnie City<br>Kitchen for Xmas Day |
| 04/12/24 | Minister Barnett                                      | Vice Governor Fujian<br>Province | 1 x Ornate Plate @ \$200 each  | \$200  | Remain property of the Crown                   |
| 05/12/24 | Minister Barnett                                      | Tasmania JackJumpers             | 8 x Tickets - JackJumpers v Cairns Taipans @<br>\$364.58 each                      | \$2917 | Retained by the recipient                      |
| 06/12/24 | Minister Barnett                                      | Civil Contractors Federation     | 1 x Ticket President's Luncheon @ \$159 each                                       | \$159  | Retained by the recipient                      |
| 09/12/24 | Minister Howlett                                      | Hansen Orchards                  | 6 x 1 kg boxes of cherries @ \$20/kg   | \$120  | Retained by the recipient                      |
| 09/12/24 | Premier Rockliff                                      | Dunalley Bay Distillery          | 1 x Bottle Boney Dry Gin 500 ML and 1 x Bottle<br>Single Malt Whiskey @ \$110 each | \$220  | Retained by the recipient                      |

| Date     | Minister  | From                             | Description   | Value  | Disposal & Location                 |
|----------|---|----------------------------------|---|--------|-------------------------------------|
| 10/12/24 | Minister Abetz  | Hospitality Tasmania             | 1 x Ticket – Christmas function @ \$80 each   | \$80   | Retained by the recipient           |
| 16/12/24 | Minister Duigan   | Hawthorn Football Club           | 1 x Ticket - Club Dinner @ \$130 each   | \$130  | Retained by the recipient           |
| 18/12/24 | Premier Rockliff and<br>Minister Barnett  | Callington Mill Distillery       | 1 x Bottle Distillery Madeira Nouveau Beginnings<br>Single Malt Whisky @ \$159 each | \$159  | Retained by the recipient           |
| 18/12/24 | Premier Rockliff  | Cricket Tasmania                 | 1 x Season Ticket - Hobart Hurricanes Chair<br>Lounge @ \$1260 each                 | \$1260 | Retained by the recipient           |
| 18/12/24 | Premier Rockliff  | Sullivans Cove                   | 1 x Bottle Rare Double Cask Single Malt Whiskey 700 ml @ \$300 each                 | \$300  | Retained by the recipient           |
| 18/12/24 | Minister Duigan   | Cricket Tasmania                 | 1 x Hurricanes BBL Cricket Gift Box @ \$120 each                                    | \$120  | Retained by the recipient           |
| 18/12/24 | Premier Rockliff and<br>Ministers Ogilvie and<br>Palmer                         | Robert Menzies Institute         | 1 x Book, <i>Unity in Autonomy</i> @ \$60 each                                      | \$60   | To remain the Property of the Crown |
| 19/12/24 | Deputy Premier<br>Barnett   | Embassy of the Republic of Korea | 1 x Book <i>The Vegetarian</i> and 1 x box of Premium Tea Collection @ \$74 each    | \$74   | Retained by the recipient           |
| 23/12/24 | Premier Rockliff,<br>Ministers Abetz,<br>Barnett, Ellis,<br>Ogilvie and Vincent | Huon Aquaculture                 | 1 x Christmas Hamper @ \$110 each   | \$110  | Retained by the recipient           |
| 28/12/24 | Ministers Howlett and Vincent   | PinPoint Tasmania                | 8 x Tickets – VIP Taste of Summer @ \$95 each                                       | \$760  | Retained by the recipient           |
| 29/12/24 | Minister Duigan   | PinPoint Tasmania                | 2 x Tickets – VIP Taste of Summer @ \$95 each                                       | \$190  | Retained by the recipient           |
| 31/12/24 | Minister Barnett  | PinPoint Tasmania                | 5 x Tickets – VIP Taste of Summer @ \$95 each                                       | \$475  | Retained by the recipient           |
| 31/12/24 | Minister Palmer   | PinPoint Tasmania                | 6 x Tickets – VIP Taste of Summer @ \$95 each                                       | \$570  | Retained by the recipient           |

| Date     | Minister          | From                  | Description   | Value  | Disposal & Location       |
|----------|-------------------|-----------------------|---|--------|---------------------------|
| 01/01/25 | Minister Howlett  | Turf Club Tasmania    | 1 x Ticket Cressy Chaff Cutters Longford Cup @ \$150 each   | \$150  | Retained by the recipient |
| 01/01/25 | Premier Rockliff  | Cricket Tasmania      | 7 x Tickets - Hobart Hurricanes v Sydney Sixers<br>BBL T20 Cricket Game @ \$285 each              | \$1995 | Retained by the recipient |
| 01/01/25 | Premier Rockliff  | Cricket Tasmania      | 1 x Cricket Australia Bat @ \$250 each  | \$250  | Retained by the recipient |
| 05/01/25 | Premier Rockliff  | Tasmania JackJumpers  | 3 x Tickets - JackJumpers v South East Melbourne<br>Phoenix @ \$89 each                           | \$267  | Retained by the recipient |
| 05/01/25 | Minister Palmer   | Tasmania JackJumpers  | 3 x Tickets - JackJumpers v South East Melbourne<br>Phoenix Corporate Box @ \$364.58 each         | \$1094 | Retained by the recipient |
| 05/01/25 | Minister Vincent  | Tasmania JackJumpers  | 1 x Ticket - JackJumpers v South East Melbourne<br>Phoenix @ \$89 each                            | \$89   | Retained by the recipient |
| 08/01/25 | Minister Jaensch  | Devonport Racing Club | 2 x Tickets - Ladbrokes Devonport Cup Chairman's Luncheon @ \$155 each                            | \$310  | Retained by the recipient |
| 08/01/25 | Minister Howlett  | Devonport Racing Club | 1 x Ticket – Ladbrokes Devonport Cup Chairman's Luncheon @ \$155 each                             | \$155  | Retained by the recipient |
| 09/01/25 | Minister Ellis    | Tennis Tasmania       | 1 x Ticket - Hobart International @ \$95 each   | \$95   | Retained by the recipient |
| 10/01/25 | Minister Howlett  | Tennis Tasmania       | 2 x Tickets - 30 <sup>th</sup> Anniversary Hobart International<br>Semi Finals @ \$95 each        | \$190  | Retained by the recipient |
| 10/01/25 | Minister Howlett  | Tasmanian Racing Club | 2 x Club Memberships @ \$365 each   | \$730  | Retained by the recipient |
| 10/01/25 | Minister Vincent  | Tasmania JackJumpers  | 8 x Tickets - JackJumpers v Adelaide 36ers –<br>Corporate Box @ \$364.58 each                     | \$2917 | Retained by the recipient |
| 10/01/25 | Minister Petrusma | Cricket Tasmania      | 1 x Ticket - BBL Hurricanes v Sydney Thunder -<br>Ricky Ponting Charity Cricket Match @\$195 each | \$195  | Retained by the recipient |

| Date     | Minister                                 | From  | Description   | Value  | Disposal & Location       |
|----------|--|---|---|--------|---------------------------|
| 11/01/25 | Minister Barnett                         | Tennis Tasmania                             | 3 x Tickets - Hobart International Finals Days @ \$95 each                  | \$285  | Retained by the recipient |
| 12/01/25 | Minister Howlett                         | Tasmania JackJumpers                        | 8 x Tickets - JackJumpers v Perth Wildcats<br>Corporate Box @ \$364.58 each | \$2917 | Retained by the recipient |
| 13/01/25 | Minister Abetz                           | Consul General of Japan -<br>Melbourne      | 1 x Formal Dinner @ \$100 each  | \$100  | Retained by the recipient |
| 14/01/25 | Premier Rockliff and<br>Minister Barnett | Consul General of Japan -<br>Melbourne      | 1 x Mitani Yamanaka Lacquerware Trinket Box @ \$207 each                    | \$207  | Retained by the recipient |
| 16/01/25 | Premier Rockliff                         | Australian Distillers<br>Association        | 1 x Bottle - 20 <sup>th</sup> Anniversary Gin 700mL @ \$80 each             | \$80   | Retained by the recipient |
| 16/01/25 | Minister Abetz                           | British High Commissioner                   | 2 x Tickets Networking Event @ \$50 each                                    | \$100  | Retained by the recipient |
| 21/01/25 | Minister Duigan                          | Cricket Tasmania                            | 1 x Ticket - Hurricanes BBL Cricket Qualifier VIP @ \$285 each              | \$285  | Retained by the recipient |
| 22/01/25 | Minister Abetz                           | Sandy Bay Yacht Club                        | 2 x Tickets - Cocktail Party @ \$60 each                                    | \$120  | Retained by the recipient |
| 24/01/25 | Premier Rockliff and<br>Minister Duigan  | Tennis Australia                            | 2 x Tickets - Australian Open @ \$2000 each                                 | \$4000 | Retained by the recipient |
| 27/01/25 | Premier Rockliff                         | Cricket Tasmania                            | 1 x Men's Hobart Hurricanes Replica BBL Shirt @<br>\$120 each               | \$120  | Retained by the recipient |
| 27/01/25 | Premier Rockliff and<br>Minister Barnett | Cricket Tasmania                            | 1 x Ticket – Hurricanes BBL Final @ \$250 each                              | \$250  | Retained by the recipient |
| 27/01/25 | Minister Duigan                          | Cricket Tasmania                            | 2 x Tickets – Hurricanes BBL Final @ \$250 each                             | \$500  | Retained by the recipient |
| 30/01/25 | Premier Rockliff and<br>Minister Abetz   | Mr F Manley, Ms S Smith and Mr D Fitzgerald | 1 x Replica Car 1:24 Holden HQ Monaro – Green<br>@ \$70 each                | \$70   | Retained by the recipient |

| Date     | Minister                                 | From                           | Description   | Value  | Disposal & Location                      |
|----------|--|--------------------------------|---|--------|--|
| 30/01/25 | Minister Ellis                           | Tasmania JackJumpers           | 8 x Tickets - JackJumpers v Illawara Hawks<br>@ \$364.58 each                       | \$2917 | Retained by the recipient                |
| 30/01/25 | Minister Duigan                          | Festivale                      | 2 x Tickets - Festivale 2025 Cocktail Party @ \$130 each                            | \$260  | Retained by the recipient                |
| 31/01/25 | Premier Rockliff                         | Festivale                      | 4 x Tickets - 3 Day Pass @ \$95 each  | \$380  | Retained by the recipient                |
| 31/01/25 | Minister Duigan                          | Festivale                      | 2 x Tickets – 3 Day Pass @ \$95 each  | \$190  | Retained by the recipient                |
| 31/01/25 | Minister Barnett                         | The Law Society of<br>Tasmania | 2 x Tickets - Opening of Legal Year Dinner<br>@ \$190 each                          | \$380  | Retained by the recipient                |
| 31/01/25 | Minister Abetz                           | Tasmanian Abalone Council      | 2 x Tickets – Luncheon @ \$80 each  | \$160  | Retained by the recipient                |
| 03/02/25 | Premier Rockliff and<br>Minister Howlett | Tasmanian Racing Club          | 1 x Tasmanian Racing Club 2025 Membership @ \$280 each                              | \$280  | Retained by the recipient                |
| 06/02/25 | Premier Rockliff                         | Vibestown Productions          | 5 x Tickets - Party in the Paddock VIP @ \$473 each                                 | \$2365 | Retained by the recipient                |
| 07/02/25 | Premier Rockliff                         | Subsea Craft                   | 1 x Subsea Craft Lego Ship, 1 x Branded Pen and 1 x Medallion with Cloth Bag @ \$80 | \$80   | Retained by the recipient                |
| 07/02/25 | Minister Howlett                         | Vibestown Productions          | 3 x Tickets - Party in the Paddock VIP @ \$473 each                                 | \$1419 | Retained by the recipient (but not used) |
| 07/02/25 | Minister Howlett                         | Carbine Club                   | 1 x Ticket – Carbine Club Derby Day @ \$165 each                                    | \$165  | Retained by the recipient                |
| 07/02/25 | Minister Howlett                         | Tasmanian Racing Club          | 1 x Ticket – VIP Derby Day Dinner @ \$280 each                                      | \$280  | Retained by the recipient                |
| 08/02/25 | Minister Barnett                         | Red Bull Australia             | 1 x Ticket - RedBull Hardline Tasmania @ \$55 each                                  | \$55   | Retained by the recipient                |
| 08/02/25 | Minister Duigan                          | Tasmanian JackJumpers          | 8 Tickets - JackJumpers vs Cairns Taipans<br>Corporate Box @ \$364.58 each          | \$2917 | Retained by the recipient                |

| Date     | Minister  | From                                       | Description   | Value    | Disposal & Location       |
|----------|---|--|---|----------|---------------------------|
| 08/02/25 | Minister Duigan                                       | Vibestown Productions                      | 3 x Tickets – Party in the Paddock @ \$257 each   | \$771    | Retained by the recipient |
| 09/02/25 | Minister Howlett                                      | Tasmanian Racing Club                      | 1 x Ticket – Hobart Cup @ \$365 each  | \$365    | Retained by the recipient |
| 02/02/25 | Minister Vincent                                      | Tasmanian Racing Club                      | 2 x Tickets – Hobart Cup @ \$365 each   | \$730    | Retained by the recipient |
| 14/02/25 | Minister Abetz  | Tasmanian Chamber of Commerce and Industry | 1 x Ticket – Tasmania Report Vision 2028<br>@ \$129   | \$129    | Retained by the recipient |
| 17/02/25 | Minister Barnett                                      | Alliance for Responsible Citizenship       | 2 x Tickets – Melbourne to London return with transfers, accommodation and Conference Tickets | \$20,780 | Retained by the recipient |
| 21/02/25 | Ministers Abetz and Vincent                           | Hospitality Tasmania                       | 1 x Ticket – Tasmanian Produce Experience VIP<br>Cocktail Cruise @ \$120 each                 | \$120    | Retained by the recipient |
| 22/02/25 | Minister Duigan                                       | Tasmanian JackJumpers                      | 2 x Tickets – JackJumpers Awards Night @ \$250 each   | \$500    | Retained by the recipient |
| 24/02/25 | Minister Barnett                                      | Tourism Industry Council of<br>Tasmania    | 1x Ticket – Northern Focus Cocktail Event @ \$88  | \$88     | Retained by the recipient |
| 25/02/25 | Minister Duigan                                       | Hospitality Tasmania                       | 2 x Tickets – Launceston Cup Eve Party @ \$110 each   | \$220    | Retained by the recipient |
| 25/02/25 | Ministers Barnett,<br>Howlett and Vincent             | Hospitality Tasmania                       | 1 x Ticket – Launceston Cup Eve Party @ \$110 each  | \$110    | Retained by the recipient |
| 26/02/25 | Premier Rockliff,<br>Ministers Barnett<br>and Howlett | Tasmanian Turf Club                        | 1 x Ticket - Ladbrokes Launceston Cup Official<br>Luncheon @ \$250 each                       | \$250    | Retained by the recipient |
| 26/02/25 | Premier Rockliff and<br>Minister Vincent              | Hospitality Tasmania                       | 1 x Ticket – Launceston Cup Marquee @ \$200 each  | \$200    | Retained by the recipient |
| 27/02/25 | Minister Howlett                                      | Berries Australia                          | 1 x Ticket - BerryQuest International 2025 Gala<br>Dinner@ \$250 each                         | \$250    | Retained by the recipient |

| Date     | Minister   | From   | Description  | Value | Disposal & Location       |
|----------|--|--|--|-------|---------------------------|
| 02/03/25 | Minister Palmer  | Tailrace Centre                                | 1 x Ticket - International Women's Day Floral<br>Workship event @ \$85 each    | \$85  | Retained by the recipient |
| 02/03/25 | Minister Duigan  | Tennis Tasmania                                | 2 x Tickets - Launceston International Tennis Finals @ \$100 each              | \$200 | Retained by the recipient |
| 06/03/25 | Minister Abetz   | Tasmania Football Club                         | 1 x Ticket – Breakfast and 1 x Promotional T-Shirt<br>@ \$55                   | \$55  | Retained by the recipient |
| 07/03/25 | Premier Rockliff   | Polar Research Institute of China (PRIC)       | 1 x Chinese Icebreaker (Boat) 'Xue Long 1' Model<br>@ \$335 each               | \$335 | Retained by the recipient |
| 07/03/25 | Premier Rockliff   | University of Washington                       | 1 x University of Washington Photo and Glass<br>Photo Frame @ \$50 each        | \$50  | Retained by the recipient |
| 07/03/25 | Premier Rockliff   | Australian Olympic<br>Committee                | 1 x Teams Gift Package @ \$330 each  | \$330 | Retained by the recipient |
| 12/03/25 | Minister Duigan  | Kingborough Tigers Sports<br>Club              | 2 x Tickets - Kingborough Tigers Sports Club<br>Business Breakfast @ \$80 each | \$160 | Retained by the recipient |
| 14/03/25 | Premier Rockliff and<br>Ministers Duigan<br>and Petrusma   | Bruny Island Hounds Tooth<br>Tasmanian Whiskey | 1 x Hounds Tooth Tasmanian Whiskey Gift<br>Package @ \$57 each                 | \$57  | Retained by the recipient |
| 14/03/25 | Minister Palmer  | Encore Theatre Company                         | 2 x Tickets - Billy Elliot Musical @ \$85 each                                 | \$170 | Retained by the recipient |
| 17/03/25 | Ministers Duigan,<br>Ellis, Howlett,<br>Palmer and Vincent | Tasmanian Chamber of<br>Commerce and Industry  | 1 x Ticket - Cabinet Cocktail Event @ \$150 each                               | \$150 | Retained by the recipient |
| 18/03/25 | Minister Duigan  | Supercars                                      | 1 x Supercars Helmet @ \$300 each  | \$300 | Retained by the recipient |
| 20/03/25 | Minister Vincent   | Tasmanian Chamber of Commerce and Industry     | 1 x Ticket – Clean Energy Tasmania Dinner @<br>\$100 each                      | \$100 | Retained by the recipient |

| Date     | Minister                  | From                                    | Description  | Value  | Disposal & Location       |
|----------|---------------------------|---|--|--------|---------------------------|
| 21/03/25 | Minister Ogilvie          | Ten Days on the Island                  | 1 x Gift Pack @ \$70 each  | \$70   | Retained by the recipient |
| 22/03/25 | Minister Howlett          | Tasmanian Trotting Club                 | 1 x Ticket - Ladbrokes Tasmania Cup @ \$75 each                                      | \$75   | Retained by the recipient |
| 22/03/25 | Minister Ogilvie          | Ten Days on the Island                  | 1 x Framed Print @ \$150 each  | \$150  | Retained by the recipient |
| 26/03/25 | Minister Jaensch          | Scotts Mill Estate                      | 1 x Bottle Pinot Blanc @ \$59 each   | \$59   | Retained by the recipient |
| 26/03/25 | Premier Rockliff          | Penguin Football Club                   | 1 x ANZAC Day Jumper @ \$50 each   | \$50   | Retained by the recipient |
| 28/03/25 | Minister Vincent          | Domain Tennis Centre                    | 1 x Ticket – Corporate Event @ \$90 each   | \$90   | Retained by the recipient |
| 29/03/25 | Premier Rockliff          | Hawthorn Football Club                  | 3 x Tickets - President's Function Round 3 –<br>Hawthorn vs GWS Giants @ \$495 each  | \$1485 | Retained by the recipient |
| 29/03/25 | Deputy Premier<br>Barnett | Hawthorn Football Club                  | 10 x Tickets - President's Function Round 3 –<br>Hawthorn vs GWS Giants @ \$495 each | \$4950 | Retained by the recipient |
| 29/03/25 | Minister Palmer           | Hawthorn Football Club                  | 2 x Tickets - President's Function Round 3 –<br>Hawthorn vs GWS Giants @ \$495 each  | \$990  | Retained by the recipient |
| 29/03/25 | Minister Duigan           | Hawthorn Football Club                  | 3 x Tickets – Hawthorn vs GWS Giants @ \$65 each                                     | \$195  | Retained by the recipient |
| 29/03/25 | Minister Duigan           | Hawthorn Football Club                  | 2 x Tickets - President's Function Round 3 –<br>Hawthorn vs GWS Giants @ \$495 each  | \$990  | Retained by the recipient |
| 31/03/25 | Minister Ogilvie          | Consul General Toyko                    | 1 x Silk Table Runner @ \$175 each   | \$175  | Retained by the recipient |
| 31/03/25 | Premier Rockliff          | The Australian 49ers<br>Association Inc | 1 x Waverley Mills Throw @ \$400 each  | \$400  | Retained by the recipient |
| 01/04/25 | Premier Rockliff          | SPEAK UP! Stay ChatTY                   | 1 x Day Adult Hoodie @ \$70  | \$70   | Retained by the recipient |
| 05/04/25 | Minister Duigan           | Cricket Tasmania                        | 2 x Tickets - Awards Dinner @ \$204 each   | \$408  | Retained by the recipient |

| Date     | Minister  | From                                    | Description  | Value  | Disposal & Location        |
|----------|---|---|--|--------|----------------------------|
| 17/04/25 | Premier Rockliff,<br>Ministers Barnett<br>and Howlett | Huon Aquaculture<br>Company Pty Ltd     | 1 x Huon Aquaculture Salmon Easter Hamper<br>@ \$68  | \$68   | Retained by the recipient  |
| 26/04/25 | Minister Ogilvie                                      | Xue Long II                             | 1 x Model <i>Xue Long</i> - Chinese Model icebreaker<br>and Model of Qinling Station, Chinese Antarctic –<br>Polar Research Institute @ \$260 each | \$260  | Retained by the recipient  |
| 26/05/25 | Minister Ogilvie                                      | Punjabi Cultural Community              | 1 x bottle Section 44 Lemon Myrtle Gin @ \$89  | \$89   | Retained by the recipient  |
| 01/05/25 | Minister Abetz  | Hermal Group                            | 1 x Luncheon and Book @ \$120 each   | \$120  | Retained by the recipient  |
| 01/05/25 | Minister Barnett                                      | TasNetworks                             | 1 x Ticket - Powering a Bright Future Dinner   | \$109  | Retained by the recipient  |
| 04/05/25 | Minister Barnett                                      | Richmond Football Club                  | 1 x Ticket - Round 8: Hawthorn v Richmond AFL<br>Game @ \$595 each   | \$595  | Retained by the recipient  |
| 04/05/25 | Minister Duigan                                       | Supercars                               | 10 x Tickets – Supercars Corporate Area,<br>Symmons Plains @ \$625 each  | \$6250 | Retained by the recipient  |
| 06/05/25 | Premier Rockliff and<br>Minister Howlett              | Tourism Industry Council of<br>Tasmania | 1 x Ticket – Dialogue Lunch @ \$170 each   | \$170  | Retained by the recipient  |
| 06/05/25 | Premier Rockliff                                      | Lion Co                                 | 2 x Tickets – Corporate box Carlton v St Kilda AFL Game @ \$200 each   | \$400  | Retained by the recipient  |
| 08/05/25 | Minister Jaensch                                      | Uni Revue 2025                          | 1 x Ticket - Uni Revue 2025 @ \$50 each  | \$50   | Retained by the recipient  |
| 09/05/25 | Premier Rockliff                                      | Cricket Australia                       | 1 x Cricket Australia Mens Replica T20 Shirt @<br>\$130 each   | \$130  | Retained by the recipient  |
| 09/05/25 | Minister Duigan                                       | Supercars                               | 1 x Ticket - Supercars Hot Lap @ \$1000 each   | \$1000 | Retained by the recipient  |
| 11/05/25 | Minister Abetz  | TT-Line                                 | 4 x Tickets - North Melbourne vs Brisbane AFL<br>Game @ \$150 each   | \$600  | Retained by the receipient |

| Date     | Minister                                | From   | Description  | Value   | Disposal & Location       |
|----------|---|--|--|---------|---------------------------|
| 14/05/25 | Minister Ogilvie                        | Healthy Shack Tech                                 | 1 x \$100 Coles Gift Card  | \$100   | Donated to Tassie<br>Mums |
| 14/05/25 | Minister Howlett                        | Devonport Chamber of<br>Commerce and Industry      | 1 x Ticket - Business Networking Event @ \$90 each                               | \$90    | Retained by the recipient |
| 16/05/25 | Premier Rockliff and<br>Minister Palmer | Turner Stillhouse                                  | 1 x Bottle - Tasmanian Single Malt Whiskey @<br>\$179 each                       | \$179   | Retained by the recipient |
| 24/05/25 | Minister Abetz                          | Clifton Beach Surf<br>Lifesaving Association       | 2 x Tickets – Awards Dinner @ \$45 each  | \$90    | Retained by the recipient |
| 31/05/25 | Minister Palmer                         | Tailrace Community Church                          | 2 x Tickets - Jude's Gala @\$150 each  | \$300   | Retained by the recipient |
| 03/06/25 | Minister Abetz                          | Tourism Council of Tas /<br>Tasmania Football Club | 1 x Ticket – Tourism and Futures Event @ \$50 each                               | \$50    | Retained by the recipient |
| 06/06/25 | Minister Barnett                        | Teen Challenge Tasmania                            | 2 x Tickets - Futures with Hope Mocktail Party<br>Fundraiser @ \$45 each         | \$90    | Retained by the recipient |
| 13/06/25 | Minister Palmer                         | Hawthorn Football Club                             | 2 x Tickets - President's Function – Hawthorn vs<br>Adelaide Crows @ \$495 each  | \$990   | Retained by the recipient |
| 13/06/25 | Minister Barnett                        | Hawthorn Football Club                             | 1 x Ticket - President's Function – Hawthorn vs<br>Adelaide Crows @ \$495 each   | \$495   | Retained by the recipient |
| 13/06/25 | Minister Duigan                         | Hawthorn Football Club                             | 10 x Tickets – President's Function - Hawthorn vs<br>Adelaide Crows @ \$495 each | \$4,950 | Retained by the recipient |
| 28/06/25 | Minister Vincent                        | Stadiums Tasmania                                  | 2 x Tickets - President's Function, Hawthorn vs<br>North Melbourne @ \$495 each  | \$990   | Retained by the recipient |
| 28/06/25 | Minister Palmer                         | Hawthorn Football Club                             | 2 x Tickets – President's Function, Hawthorn vs<br>North Melbourne @ \$495 each  | \$990   | Retained by the recipient |

| Date     | Minister         | From                                | Description  | Value  | Disposal & Location       |
|----------|------------------|-------------------------------------|--|--------|---------------------------|
| 28/06/25 | Minister Ellis   | Hawthorn Football Club              | 10 x Tickets - President's Function, Hawthorn vs<br>North Melbourne @ \$495 each   | \$4950 | Retained by the recipient |
| 01/07/25 | Minister Howlett | Tasmanian Turf Club                 | 1 x New Racing Badge @ \$160 each  | \$160  | Retained by the recipient |
| 12/07/25 | Minister Duigan  | Ben Lomond Alpine Resort            | 3 x Tickets - Ben Lomond Christmas in July<br>@ \$40 each  | \$120  | Retained by the recipient |
| 26/07/25 | Premier Rockliff | Elphinstone Group                   | 1 x Book: <i>Because we didn't know we couldn't</i> (\$62) 1 x Huon pine box with engraved 50 <sup>th</sup> anniversary Elphinstone Group (\$75) | \$137  | Retained by the recipient |
| 04/08/25 | Minister Abetz   | Nyrstar and Trafigura               | 1 x Ticket Executive Dinner @ \$120 each   | \$120  | Retained by the recipient |
| 12/08/25 | Premier Rockliff | Tasmanian Council of Social Service | 1 x Black and White Print Hobart Scene by<br>Bronwyn Tilbury @ \$195 each  | \$195  | Retained by the recipient |
| 13/08/25 | Minister Ogilvie | Australian Ambassador for Vietnam   | 1 x Silk Scarf @ \$285 each  | \$285  | Retained by the recipient |
| 15/08/25 | Minister Abetz   | Tasmania Football Club              | 1 x Ticket – Devils Football Club Event @ \$200 each   | \$200  | Retained by the recipient |
| 17/08/25 | Premier Rockliff | North Melbourne Football<br>Club    | 1 x Ticket – President's Function North Melbourne vs Richmond @ \$185 each   | \$185  | Retained by the recipient |
| 22/08/25 | Minister Howlett | Tasmanian JackJumpers               | 1 x Ticket - JackJumpers NBL26 Season Launch and Jersey Presentation @ \$150 each  | \$150  | Retained by the recipient |
| 23/08/25 | Minister Duigan  | Surf Life Saving Tasmania           | 2 x Tickets - Awards for Excellence @ \$85 each  | \$170  | Retained by the recipient |
| 23/08/25 | Minister Ogilvie | Greek Community<br>Association      | 1 x Ticket – FEAST Day Panagia Portaitissa Dinner<br>@ \$50 each   | \$50   | Retained by the recipient |
| 23/08/25 | Premier Rockliff | Rob Fairs Foundation                | 2 x Tickets – Foundation Dinner @ \$150 each   | \$300  | Retained by the recipient |

| Date     | Minister                                | From                                     | Description   | Value | Disposal & Location       |
|----------|---|--|---|-------|---------------------------|
| 30/08/25 | Minister Palmer                         | Launceston Chamber of Commerce           | 1 x Ticket – Awards Night @ \$190 each  | \$190 | Retained by the recipient |
| 03/09/25 | Minister Howlett                        | Tourism Australia                        | 1 x Ticket – Top Tourism Town and Top Tour<br>Guide Awards @ \$160 each               | \$160 | Retained by the recipient |
| 04/09/25 | Premier Rockliff                        | Festivale                                | 2 x Tickets - 2026 Launch Event @ \$75 each   | \$150 | Retained by the recipient |
| 06/09/25 | Minister Duigan                         | Southern Tasmania Netball<br>Association | 2 x Tickets - Presentation Evening @ \$80 each  | \$160 | Retained by the recipient |
| 12/09/25 | Premier Rockliff                        | A.H. Beard Pty Ltd                       | 1 x Golf Umbrella @ \$50 each   | \$50  | Retained by the recipient |
| 12/09/25 | Minister Ogilvie                        | Rotary Club of Hobart                    | 1 x Ticket – Art Show @ \$60 each   | \$60  | Retained by the recipient |
| 13/09/25 | Premier Rockliff and<br>Minister Archer | SPEAK UP! Stay ChatTY                    | 2 x Tickets - Gala Ball & VIP Event @ \$275 each                                      | \$550 | Retained by the recipient |
| 13/09/25 | Minister Abetz and<br>Duigan            | Football Tasmania                        | 2 x Tickets - End of Season Awards @ \$135 each                                       | \$270 | Retained by the recipient |
| 13/09/25 | Minister Duigan                         | AFL Tasmania                             | 2 x Tickets – Southern Football League Grand<br>Final @ \$100 each                    | \$200 | Retained by the recipient |
| 17/09/25 | Minister Vincent                        | Engineers Australia                      | 1 x Tickets – Excellence Awards Dinner @ \$270 each                                   | \$270 | Retained by the recipient |
| 18/09/25 | Minister Barnett                        | Tas Whiskey and Spirits<br>Association   | 1 x Bottle Killara Distilery Ex-Shiraz Cask Strength Single Malt Whiskey @ \$350 each | \$350 | Retained by the recipient |
| 18/09/25 | Minister Howlett                        | Tasmanian JackJumpers                    | 1 x Ticket - JackJumpers vs Melbourne United<br>Corporate Box seat @ \$364.58 each    | \$365 | Retained by the recipient |
| 18/09/25 | Minister Vincent                        | TT-Line                                  | 2 x Tickets – JackJumpers vs Melbourne United<br>Corporate Box @ \$480 each           | \$960 | Retained by the recipient |

| Date     | Minister         | From   | Description   | Value  | Disposal & Location       |
|----------|------------------|--|---|--------|---------------------------|
| 18/09/25 | Minister Archer  | Australian College of<br>Midwives                | 3 x Pashmina Scarfs @ \$45 each   | \$135  | Retained by the recipient |
| 19/09/25 | Minister Barnett | Federal Group                                    | 1 x Ticket – Bill Sorell Sports Luncheon @ \$170 each                                   | \$170  | Retained by the recipient |
| 19/09/25 | Minister Duigan  | Hillwood Football Club                           | 1 x Ticket – Awards Dinner @ \$60 each  | \$60   | Retained by the recipient |
| 19/09/25 | Minister Howlett | TasRacing  | 1 x Ticket – 2024/25 Tas Horse of the Year and Hall of Fame Inductions @ \$60 each      | \$60   | Retained by the recipient |
| 20/09/25 | Minister Howlett | South-East Suns Netball<br>Association Committee | 1 x Ticket - End of Season Presentation Dinner @ \$85 each                              | \$85   | Retained by the recipient |
| 22/09/25 | Minister Duigan  | Cricket Tasmania                                 | 1 x Big Bash League Champion Cap @ \$50 each  | \$50   | Retained by the recipient |
| 22/09/25 | Minister Archer  | Australia Post                                   | 1 x set Beyond Blue Postcards @ \$170 each  | \$170  | Retained by the recipient |
| 24/09/25 | Premier Rockliff | Brand Tasmania                                   | 1 x Black Merino Scarf @ \$120 each   | \$120  | Retained by the recipient |
| 24/09/25 | Minister Ellis   | Housing Industry<br>Association                  | 1 x Ticket – HIA Dinner @ \$60 each   | \$60   | Retained by the recipient |
| 25/09/25 | Minister Pearce  | Tasmanian Beekeepers<br>Association              | 1 x Honey Gift Pack - 3 Jars Honey, 2 Herbal Tea, and 1 Honey Mead Whiskey @ \$200 each | \$200  | Retained by the recipient |
| 26/09/25 | Minister Barnett | Launceston Players                               | 2 x Tickets - Anthem Production @ \$45 each   | \$90   | Retained by the recipient |
| 27/09/25 | Premier Rockliff | AFL  | 1 x Ticket - 2025 Toyota AFL Grand Final<br>Commission Lunch @ \$745 each               | \$745  | Retained by the recipient |
| 27/09/25 | Minister Abetz   | AFL  | 2 x Tickets - 2025 Toyota AFL Grand Final<br>Commission Lunch @ \$745 each              | \$1490 | Retained by the recipient |
| 27/09/25 | Minister Duigan  | Hawthorn Football Club                           | 2 x Tickets 2025 Grand Final Brunch @ \$2595 each                                       | \$5190 | Retained by the recipient |

| Date     | Minister   | From   | Description   | Value  | Disposal & Location       |
|----------|--|--|---|--------|---------------------------|
| 29/09/25 | Minister Ellis   | Sibanye-Stillwater                               | 1 x Ticket - CEO Dinner @ \$154 each                                  | \$154  | Retained by the recipient |
| 30/09/25 | Premier Rockliff   | Consul General of China                          | 1 x Mid-Autumn Festival Hong Kong MX<br>Mooncakes @ \$58              | \$58   | Retained by the recipient |
| 04/10/25 | Minister Abetz   | Tasmanian Community<br>Achievement Awards        | 1 x Ticket – Community Achievement Awards Gala<br>Dinner @ \$200 each | \$200  | Retained by the recipient |
| 05/10/25 | Minister Howlett   | Federal Group                                    | 1 x Ticket - Luncheon @ \$100 each                                    | \$100  | Retained by the recipient |
| 11/10/25 | Minister Abetz   | Kingborough Lions United<br>Football Club        | 1 x Ticket - Awards Presentation @ \$65 each                          | \$65   | Retained by the recipient |
| 13/10/25 | Ministers Archer,<br>Barnett, Duigan,<br>Ellis, H-wlett and<br>Vincent | Tasmanian Chamber of<br>Commerce and Industry    | 1 x Ticket - Cabinet Cocktail Party @ \$120 each                      | \$120  | Retained by the recipient |
| 14/10/25 | Minister Howlett   | Basketball Australia                             | 1 x Boomers Basketball Jersey @ \$85 each                             | \$85   | Retained by the recipient |
| 16/10/25 | Minister Howlett   | Women in Tourism and<br>Hospitality Tasmania Inc | 1 x Ticket - Industry Leaders Breakfast 2025 @ \$60 each              | \$60   | Retained by the recipient |
| 17/10/25 | Minister Howlett   | Carbine Club                                     | 1 x Ticket - Sporting Luncheon @ \$150 each                           | \$150  | Retained by the recipient |
| 18/10/25 | Premier Rockliff   | TabCorp  | 1 x Ticket – Tab Everest Day 2025 Marquee @ \$1400 each               | \$1400 | Retained by the recipient |
| 31/10/25 | Minister Duigan  | Tourism Industry Council of<br>Tasmania          | 1 x Ticket - Tasmanian Tourism Awards Gala @ \$219 each               | \$219  | Retained by the recipient |
| 31/10/25 | Minister Abetz   | Tourism Industry Council of<br>Tasmania          | 2 x Tickets – Tasmanian Tourism Awards Gala @<br>\$219 each           | \$438  | Retained by the recipient |